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THE OPEN UNIVERSITY OF SRI LANKA

BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME
LEVEL -4

FINAL EXAMINATION 2017

MACRO ECONOMICS - MCU2207
DURATION: THREE (03) HOURS

Date: 01.04.2017 Time: 1.30 PM - 4.30 PM

Answer Part A and Any Two (02) Questions from Part B
Use of Non programmable calculator is allowed.

PART ‘A’

Question No. 01

Do you “agree’ or “disagree” with the following statements? Explain providing reasons.
(Provide illustrations where relevant)

i

vil.

viii.

ix.

When the number of sectors in the economy increases the value of the expenditure
multiplier too increases.

At a time when a country is experiencing higher inflation expansionary Monetary
policies should be used to control inflation.

When the rate of inflation is high borrowers loose and lenders gain.

When the economy is in recession, the government should use expansxonary Fiscal
and Monetary policies to shift the economy out of recession. ~

It is possible to achieve zero level of unemployment in an economy.

It is important that policy makers pay especial attention to reduce Structural
Unemployment in an economy.

Introduction of minimum legal wage could create unemployment.

When the value of the domestic currency depreciates that increases the amount of Net
Exports in a country.

Philips Curve reflects the positive relationship between the rate of inflation and
unemployment of an economy in the short run.

An increase in the price level of an economy increases the demand for money.

(4 marks x 10 = 40)




Question No.

(2)

(b)

Question No. 03

(@)

i.

il.

02

PartB

[f the Autonomous Consumption is given as Rs.40 million and Marginal
Propensity to Save as 0.3 (MPS = 0.3) derive both the Consumption and Saving
functions and explain the same using illustrations. (6 Marks)

Fill in the table if ; S=-100 + 0.25 Yq4 (Savings function)

Output (income) Y Net Disposable | Consumption | Savings
Taxes(T) | Income spending
400 100
500 400
600 475
700 50
800 625
(06 Marks)

Details of a three sector economy, given as;
C = 80 + 0.8y4 (Consumption function)
I = 120 (Autonomous investments)

G
T

1L,

1ii.
iv.

vi.

= 160 (Government Expenditure)
= 20 (Autonomous Taxes)

Find the equilibrium level of National Income (02 Marks)
In addition to the autonomous taxes, if the government introduces an income
tax of 20% and Transfer payment of Rs.10 billion (TR = 10), find the
equilibrium level of national income. (03 Marks)
Calculate Expenditure, Tax and Transfer multipliers. (03 Marks)
Suppose the economy becomes open and the following changes take place;

X = 48 (exports)

M = 42 4+ 0.2y(imports)
Calculate the equilibrium level of National Income (04 Marks)
Find the Expenditure, Tax and Transfer multipliers (03 Marks)
If the domestic currency appreciates against the currcncics of its trading
partners and therefore Autonomous Exports changes by Rs.3 billion and
Autonomous Imports changes by Rs.2 billions, find the new equilibrium level
of National Income. (03 Marks)

(Total 30 Marks)

Do you “agree” or “disagree’ with the following statements? Explain providing reasons.
(provide illustrations where possible)

The ‘IS’ curve is positively slopped because there is a positive relationship
between the rate of interest and level of investment expenditure. (04 Marks)
Transaction Demand for money is negatively related to income and Speculative

(1)
(ii)
(iii)

demand for money is positively related to rate of interest. (03 Marks)
The ‘LM’ curve reflects the combinations of rates of interest and incomes that
will bring the goods/product market into equilibrium. (04 Marks)

2
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(iv)  In Liquidity Trap range, Fiscal policies are highly effective and Monetar& policies

are completely ineffective. (05 Marks)
(v)  When the demand for money does not depend on rate of interest at all both Fiscal
and Monetary policies are highly effective. (05 Marks)

(b)  Using IS/LM framework, explain the impact of following changes on the rate of interest
and level of income in the economy.
i. Average price level in the economy declines.
il. The government reduce expenditure on education and health.
iii. Central Bank reduces the reserve requirement of commercial banks.
(09 Marks)
(Total 30 Marks)

Question No. 04

(a) “Classical approach is different to the Keynesian approach in explaining the relationship
between money supply and the price level in an economy” Do you agree? Explain using
illustrations. . (08 Marks)

(b) 1. - What is meant by Velocity of Circulation (V)? How is it calculated? Explain.
ii. How do the Classical economists, Keynesians and Monetarists differ in their
assumptions in relation to the Velocity of Circulation? (08 Marks)

(©) Using Aggregate Demand and Aggregate Supply (AD/AS) framework explain the impact
of following changes on the economy.
i. The government increase the tax rates.
ii. Decline in the cost of production. (06 Marks)

(d)  Suppose that the full employment level of output of an economy is Rs.4,200 billion and
the actual equilibrium level of output is Rs.3800billion. If Marginal Propensity to Save is
0.2 (MPS = 0.2) , to bring the economy to full employment level of output;
1. By how much the government should increase its expenditure?
ii. By how much the government should reduce the taxes? What are the drawbacks
in this approach? Explain. (08 Marks)

Question No. 05
(a) ' Compare and contrast. Provide illustrations where possible, to explain your answer.
1. Demand Pull and Cost Push Inflation.
ii. Economic Growth and Economic Development.
ii. Cyclical Unemployment and Seasonal Unemployment.
iv. Psychological Theory and Keynesian Theory of Business Cycle. (20 Marks)

(b) With examples explain how the knowledge of Macro Economics helps a manager in
making effective decisions. (10 Marks)

-~Rights Reserved-
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(iv)  In Liquidity Trap range, Fiscal policies are highly effective and Monetary policies

are completely ineffective. (05 Marks)
(v) When the demand for money does not depend on rate of interest at all both Fiscal
and Monetary policies are highly effective. (05 Marks)

Using IS/LM framework, explain the impact of following changes on the rate of interest
and level of income in the economy.

i. Average price level in the economy declines.
il The government reduce expenditure on education and health.
. Central Bank reduces the reserve requirement of commercial banks.

(09 Marks)
(Total 30 Marks)

Question No. 04

()

(b)

(c)

(d)

“Classical approach is different to the Keynesian approach in explaining the relationship
between money supply and the price level in an economy” Do you agree? Explain using
illustrations. . (08 Marks)

I What is meant by Velocity of Circulation (V)? How is it calculated? Explain.
1. How do the Classical economists, Keynesians and Monetarists differ in their
assumptions in relation to the Velocity of Circulation? (08 Marks)

Using Aggregate Demand and Aggregate Supply (AD/AS) framework explain the impact
of following changes on the economy.

1. The government increase the tax rates.

ii. Decline in the cost of production. (06 Marks)

Suppose that the full employment level of output of an economy is Rs.4,200 billion and

the actual equilibrium level of output is Rs.3800billion. If Marginal Propensity to Save is

0.2 (MPS = 0.2) , to bring the economy to full employment level of output;

I By how much the government should increase its expenditure?

il By how much the government should reduce the taxes? What are the drawbacks
in this approach? Explain. (08 Marks)

Question No. 05

(a)

(b)

- Compare and contrast. Provide illustrations where possible, to explain your answer.

I Demand Pull and Cost Push Inflation.

ii. Economic Growth and Economic Development.

iii. Cyclical Unemployment and Seasonal Unemployment.

iv. Psychological Theory and Keynesian Theory of Business Cycle. (20 Marks)

With examples explain how the knowledge of Macro Economics helps a manager in
making effective decisions. (10 Marks)
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